V210624

MEBLE——
L—OKMED

DEMKO

BEN 20

,MEBLE-OKMED” DEMKO - spotKA JAWNA

ul. Kolejowa 13, 14-500 Braniewo, POLSKA
www.mebleokmed.pl (+48) 55 243 27 26
firma@mebleokmed.pl

11/570/17/3

~2 [0
@ O FaciL

=
Be
E i
O

@ v::nl:uouer:c clez

Association Magasin D

https://quefairedemesdechets.fr

échét

BEN 20
SERIA: _/__

"

&9

= @

)

2 S )




BEN 20 Platte  11/570/17/3

W 11 =8

11-570-17-3

[mm] | [mm] | [mm]

o 770 | 600 | 22 | x1 0 e e
e 598 | 558 | 22 | x1
©

210 | 600 | 22 | x1

Omm 10 20 30 40 50 60
IR

2/4




11/525/18

BEN 20 Gestell

minieuro 6,3x13

|

4

N

N

0 0
N N
(o] (o]
AN AN
Q|
< <
< <
N N
—
-

M6x12

8
&\\,&%

minieuro 6,3x13

3/4




Ny

Y 600 600

/

O 113 300

5 m ) 413

S~~~ ©

" @ %

“““““““ m - — —
<~ ° 5 > ,
o~
12 x @9x12
V4T Jf\ \\.“ﬁk/
A—v |
-+ ik
(4] | .
— I I e
| M~
Tl 3x 833 3x 933 o 2
o~
‘ v [ee] %‘ =}
N - ® 2
. 360 192 | 60
= )
m
— — — Q 398 150 s
[Fg)
o~
an “$- -
| | | % | ?3x3
—& b— —b — | LA
Ml |2x 8512, 2x gmi& = LX ©
80 100
110
488 302
518 548
598 600

4/4




Electric Height Adjustable Desk 3-Leg

CAUTION

MAKE SURE NO OBSTACLES ARE IN THE DESK'S PATH AND
ALL CORDS ARE OF APPROPRIATELENGTH FORDESK
TRAVEL.FAILURETO COMPLY WITHOROBSERVE ALL
ASSEMBLY,SAFETY,AND OPERATION INSTRUCTIONS AND
WARNINGS REGARDING THE USE OF THIS PRODUCT MAY
RESULTIN SERIOUS PROPERTY DAMAGE ORBODILY INJURY.

IMPORTANT

Any user orinstaller of desk base must study this manual carefully.
If this desk is sold,please provide the manual to the buyer.




A CAUTION:
SAFETY AND WARNINGS

* Inappropriate use of this product may cause property or bodily injury. Make sure that
children, pets, etc. stay away from the product when the desk is in operation.

* Check the surroundings on all sides before using the desk. Make sure the desk does
not touch the wall.

* Please unplug the power supply during lightning and when the productis notin use
foralong time.

* Make sure NO obstacles are in the desk’s path and no obstacles higher than 500 mm
under the table. Body parts and property can be crushed if trapped between an immobile
obstacle and the desk’s range of motion.

» Keep the work environment temperature at 0-40 °C. And keep goods away from corrosive
gases, liquids, and dusty objects.

* Ensure the length of power cords is accounted for when operating the desk. Monitors,
computers, speakers, and anything with a cord that is notlong enough for the desk’s
range of motion could be pulled down or have its wires broken. Items pulled off the
desk may cause other items to fall.

Itis strictly forbidden to disassemble the product without permission, in order to prevent
the product from malfunctioning and electronic products from causing harm to the
human body.

* Please provide this operation to any users, installers, or support personnel operating
the product. Read relevant operating instructions before using. The company does not
take any responsibility for product damage and human body injury caused by the abnormal
operations.

USAGE

This desk height is adjustable so that it can be positioned at the most ergonomically
suitable height. These desks are designed only for the purposes included in this manual.
They should not be used in environments with high humidity or dampness. Any other
use is atthe user’srisk.

Do not move around, crawl or lie under the desk frame. Do not sit or stand on the desk
frame.

Children should never use the desk unless they are supervised by adults.

Liability: Under no circumstances does the manufacturer accept warranty claims or
liability claims for damages caused by improper use handling of the desk frame other
than that which is described in this operation manual.



SETUP AND INSTALLATION

Once the desk has been assembled, adjust the feet so that the desk is level and does
not shift its position. After this, connect the desk to the 110v or 240v outlet and the desk
is ready for use.

Check that no cables can getjammed.

Choose a placement for the desk that’s a safe distance from window frames, radiators,
furniture, etc. So that people do not get stuck or trapped by the desk.

Do not place any objects that are taller than 50cm(20”’) underneath the desk. After it
has been assembled, when moving the desk, DO NOT lift the desk by the desktop.
Lifting this way can stress the fasteners connecting the desk base to the desktop.
Lower the desk completely and lift the desk by grabbing the top of the desk base or
by removing the desktop first.

SAFETY AND WARNINGS

This desk height is adjustable so that it can be positioned at the most ergonomically
suitable height. These desks are designed only for the purposes included in this manual.
They should not be used in environments with high humidity or dampness. Any other
use is atthe user’srisk.

Do not move around, crawl or lie under the desk frame. Do not sit or stand on the desk
frame.

Children should never use the desk unless they are supervised by adults.

Liability: Under no circumstances does the manufacturer accept warranty claims or
liability claims for damages caused by improper use handling of the desk frame other
than that which is described in this operation manual.



Main Components

Please check you have all the parts listed below

@ Cross BarQty 1 @ Steel Plate Cover Qty 2 Cable Tray Qty 1 Leveling Studs Qty 4

@ Control Box Qty 1 Adapter Qty 1 @ Handset 1 Qty 1@ Handset 2 Qty 1

Fixings, Fittings And Tools

Please check all the fittings listed below

Note: The quantities below are the correct amount to complete the assembly . In some case more
fittings may be supplied than be required.

A B C/ ® E/

frff

ffff
@

Qty 8 M6*16mm Screw | Qty 16 M6*8mm Screw | Qty 12 M6*8mm Screw | Qty 9 M5*18mm Screw |Qty 10 M4*16mm Screw

F © Q o

OQ\
<> | o

Qty 1 M4 Allen Key Qty 1 M4 Allen Key Qty 1 Power Cord Qty 1 Connecting Cables

© | Y% | %




Assembly Steps

Attach each foot with
gty 8 Screws(Part#A)

M6*16mm Screw Qty 8

Y

M4 Allen key Qty 1




Attach Connection Strap

with gty 8 Screws(Part#C)

\&

M6*8 mm Screw Qty 8

M4 Allen key Qty 1




Step 3

S _ 0 o

L2355

QO -« LC ®©

CCEt

o VY c 0

tEth

bhh..m

o + @ © ..

— ¢ 3 Z z o

%mml &Q g O
£ /\(w [w 5

-+ -+

» 2o E &~ & Y ¢ o

&= S

T ﬁ(( a ,,W I P

T v w S £ S £

< 5 > £ > £

L 5 O 0 0 o

® 8 2% £ 5

BEcwvcg 2 g

AOEOt

Please leave 2mm at this place.




0 O
)
> c
o O
h)
= Q0
55 g
T o
L QA
Al - - £
ol -5 = O
() c v
SAS.T.

M6*8 mm Screw Qty 8

M4 Allen key Qty 1




I~

QW__:_,

\RE=
\
\
\
\
\
\

\

Attach control box
&connect cables

M6*8 mm Screw Qty 4
Y
M4*16mm Screw Qty 4
OQ\
Qty 1 Connecting Cables

Qty 5 Cable Clips
Qty 1 Power Cord




Carefully turn the desk over
into it’s final location and
connect to a power source.

10



For Up and down function

Three Memory Height
DeskHeight UpandDown ;= Setting

| ‘ | |

ANV I1]2]383 M

Before Plugging the table into the outlet, make sure that
- The lift columns are level and set at the lowest position.

- All the screws are tightened, to avoid the desk making noise and wobbling.

Activate the desk by following the next steps.

- Please press button down and hold for 10-15 seconds
until it stutters and beeps.

- Release the button, then your desk is ready to use.

Operation Guide

1. Memory desired height 0
-Press button “M”,display show “S-” with flash. ‘
-Press number and set desired position.

2. Advanced Safety feature- lock and
unlock the table.

-Press button up and down at same time for 5
seconds, display “LOC”

-All single button will be inactive and table
will be unable to move.

-Pressing button up and down together will U
unlock the keypad and release the LOC

3. Reset the table

When display show Error code or RST,
Please reset the table.

lac | AV 1|23 |m

-Unplug the power cord from the control box. 0
-Unplug the cable that links the keypad to the ‘ 1T

control box. @
-Wait 30 minutes and plug all the cables in again.

Press by holding

-Do the reset: please press button down and hold 10-15 seconds

for 10-15 seconds until it stutters and beeps.

If the keypad displays HOT,please unplug and replug
and letit cool off for a couple of minutes before proceeding again.

11



For tilting function

-The up and down handset is for plate tilting. - =
-Please press up or down to tilt the table top. S - — =
A V
\ y

12



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

